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10.C, NoseTkuHa

HaumeHoBaHue 6nioa

can

3aBTpak

Cyn MONOYHbIN repKynecosblii

Bytepbpoa ¢ macnom cnus.

Kakao ¢ monokom

2-on-3aBTpak - PpyKTbl

Obepn

OsoLwm ceexue

Cyn kapTogenbHbli C Kpynowu

Butouek pbibHbIA

KapTodenbHoe niope

KomnoT 13 ceexux hpykTos

Xneb nweHnYHbIN

Xneb pxaHoin

MongHuk

Omnert

OBowu ceexuve

Xneb nweHnYHbIR

Yan

_____— Bbixoa
acnv
B Sl P
150
35
25
"~ 180
150
= 70
70
= g
30
200
[
e 60
50
120
110
— 180
150
——f — a5
20
""" gy
20
80
60
i 20
20
20
20
180
X

Hvetcectpa

7







